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- 1- 20 , in the term of percentage is | NIV APV 20 -1
A4 20% (D) 20 (C) 35 (B) +435% (A)
2- Zakat on an amount of Rs.1,00,000 is -6 3F 83554 a0 100,000 2
2500 (D) 25000 (C) 15000 (B) 2000 (A)
3- Loss is there when : . N byl .3
C.P.>SP. 4ied > wsjod (B) SP.>CP.  w=sjeds> iud (A

SP.=MP. wsjed= oditn (D)
4- The return earned by the bank on loan is called
premium (gg (D) mark up ?«ufl. (C)
5- Taxes of the form of duties, motor vehicle taxes are call
excise duty (3;’5'/’%1 (D) property tax Jgé{lg ©)
6-In /3 , 3 is called
natural number sx(.3 (D)  an integer wif (c

7-1n 4° 4 is called

base L/ (D) an integer w(‘i (D)
8- Fourth term of a, = ——17
2n-1)
1 /
31 (D) 0 (j
9- AM. between +/3 and 393 1
93 (D) 23 (©)
10- (AUB)' = ?
¢ (D) (AnBY (C)
11- If A and B are two non-empty sets then AUB =
BUA (D) BnA (©)
12- The co-ordinates of origin are
(0,1) (D) (1,00 (©)
13- If y =3x, then for x =2 we have y=?
3 (D) -3 (C)

14- The score which occurs most often in a set of datais called™

geometric mean L~ (D) mode b (C)
15- > (¢ = X) = 0 is one of the properties of
J,/,!Q ~ (B)
arithmetic mean Loidl> (D)

geometric mean
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SP.=CP. wsjed= 50 ()
-uj%’fal;.t‘/m(aﬁbu@f:z{q—;u.’; -4
profit St (B) bonus Y (A)

-wifu?u: fﬂﬁfgfﬁ:}/ c 243 5

indirect tax (/"@/UQ (B) direct tax chv’bg'/. A

S 3L 3 6

radicand 3 (A)
Y -

radical i (B)

exponent Ues (B) radical i (A)
;3 1
“4&(463Jan— (2n—1)2 8
1 1
7 (B) 29 (A)
~ebs 3Tl L 34/3 ﬁ -9
443 B 503 (A
= (AUB) -10
A'UB' (B) A'NB' (A
AUB = ? Juncrdb £nB oA 11
ANB (B) ¢ (A
YLt Lilsr 12
(0,0) (B) (1, 1) (A
y=? & x=2 juy=3x S .13
6 (B) 0 (A

B _‘LJW Tz rpnlic »/ui')lru’fj{ ol 0y 14

median _k-s (B) mean Lsl (A)
-~ bl el S Z(Xi = —X—) =
bl vl (A)

mean L~/ (C)

harmonic mean
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2- Write short answers to any SIX questions: (2x6=12) -é {;u&’f/'#éumf(s) ic._éf 2

i- Express 48 percent as fraction in its lowest form: e, &Y R FJ / ok San( 48 i

ii- Define ratio and Wrrte its symbol. - J ../Ua J I éfu//’ J u"' i

iii- Find the value of X in the proportion: e 5,‘:"’ =d J X Sl 4_: i

20:50::8:x Co e 20150uegx

, ' j‘_,J)l éJfJ/ ~iv
é( 73 J;t,ru’.’l.aia.un 10000 -v

iv- Define Ushr and wnte lts two rates
v- Calculate Zakat dn gold’ amountlng to Rs.11 10000
vi- Define loss and wnte Ioss % fonnula
vii- Find C.P. if f S.P. = Rs672
| Profit = 5%
viii- Find marked prlce if . S.F

ix- Find simple profit if

3- Write short answers to an (2x6=12)
i- What is meant by oper
ii- What is. meant byl irect tax? Write its: forms .
- The pnce of‘a'blcycle is Rs.3500 Find sales tax
atthe rateof16%

iv- Express rn exponentlal fonn ; 3 .2‘7xl‘8

V- Simplify % X! a/ a7 73

vi- Write' 112.3 in screntlﬁc notatlon -dfu" "/’ u”‘vf 112 3 -vi

SR ¢ N | e : £
vil- Write first: three terms |f a = Apy = i f ‘,_ﬂ e -vii
{ B 2n+s A n -2n+5 r”u”"%
viii- Find arithmetic mean between 6\/3- and 21/-5‘ -érﬁ"‘ by d" ulmL 2J§ 2t 6J_ ~viii
ix- Find a,, from the following: o ' efr:"' a,u it -ix
9, 14, 19, woverreren 9, 14, 19, ..o
4- Write short answers:to any SIX questions: (2x6=12) -é,(/uw/f"ﬁuuw(s) iz.(.;/ -4
i- Define union of sets. : -éful/’ JJ! Lo use i
ii- Find AC if A& n° i
Uf={112: 3,4’ 516’ 7}: A={314!5} : U={11213r4|5| 617}0 A={3:4| 5}
iii- Write two binary relations in B x Aif - /7 2 bl SE» EBxA i
A={3,:5,6}, B={1,3} A={3,5+6}, B={1,3}
iv- Represent H(5, 0) on the graph. &b S HE 0 v
v- Write down the co-ordinates of a point lying below el In Y6 Leif~x g -y Bl v
x- axis and on y-axis at a distance of 6 units.

vi- Convert 25°C into °F. et FL25°C v
vii- Define mode. -21“..4/7 g ula Vi
viii- Find range for the data 6, 8, 10, 14, 13, 12 e 6,8,10,14,13,12 o i
ix- Find GM. of 2,4 and 8 Al 3K B s 42 i

D)



NOTE: Attempt any THREE (3) questions from Section II. 6 1y 7- 4, -écf ety (3) Lt (oo L
-

5-

(A aLszsn £8LJr ) Sectionll pn o

(a) Raheel's income is 25 % more than that of Rauf.
What percent is Rauf's income less t!]an Raheel's?

(b) A factory makes 560 fans in 7 days with the help

of 20 machines. How many fans can be made in

12 days with the help of 18 machines?

(a) Aslam, anwarand Akram eamed a prof tof Rs. 250000

from a business. If their 1nvestments m the busmess

are of the ratio 4:7 : 14 respectlvely Fmd the profit ‘

of each.

(b) Find out the compound_mark up on: Rs 250000 for

one year @ 14 % co '

(@

salary of the peis_on. i

(b) prove thaf

16
71 51
og(15)+ log

(@) Insert two GiMs between 4 and 5

= 16}

3a+2b

® 1 R={@ b):abe W,

find its domain and rénge R.

(a) Drawthe graphof 'y =4x+1
(b) Find the standard deviation for the values
1,.2,3,4,6,8,11
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R={(@a b):

“,7

—emia 25 = JuT Uit LTS L () -5

te (ud & o §uT 13T O
£ 560 L UHT REUHE S U 20 (L)

oL E Luh 12 e 18U s
L

&2 250000 < At T LT sl 131 A1 () -6
e K S ik S
-ir}"b"(.{lﬁ in 4:7:14

A 14 IS B & J 4 &2/ 250000 (.,)
ok e Lyl

- 000 G;u L 7
044 4111200 « &1 1500 fi

Sl ,u..)*u* u;/ oty

-b’,b L/fa_,,/ dfdt f,,;un

16 25 81
7log(15)+5log(24)+3log(80) log 2
v 1
-2’_",:(}"&4 d/" s £ EJ;' 4(9) -8

a, beW, 3a+2b =16} J (L)
-é@/;}ldfprR;n

oS y=4x+1 () 9
e GGk 4 1,2,3,4,6,8, 115 (L)
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- 1-

2-

3-

4-

6-

b

8-

O-

10-

11-

12-

13-

14-

15-
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For y =2 in 2x-y =6 wehave x =7 x=? &, y=2 8 2x-y =6 _1 _1
-2 (D) 2 (© -4 (B) 4 (A
The tax in addition to the price of the article is called Y1 &f R/ J‘g Sl Seid g4 0/ -2
excise duty 43:;5'/’(/9 (D) | income tax Jgﬁ (C)  salestax L/..C): (B) tax g/? A
20 % of 600 is e 4% 20V¥ 600 -3
200 (D) 20 (C) 120 (B) 12 (A)
AM.between 2./5 and 645 is ‘ e b7 245 4 645 L4
745 (D) 545 (c) 345 (B) 445 ()
Next term of 12, 16, 21, 27 is e Adi ot 12,16,21,27 5
32 (D) 31 (C) 30 (B) 34 (A)
The middle value of the data arranged in numerical order is called _q,JUf =d Gow J”, ol 2 u/ -6
geometric mean L 4 (D) mean Ll (C) median ks (B) mode b (A)
The co-ordinates of origin are : - el 7
(0,0) (D) (1,0 (©) 0, 1) (B 1,1 A
Y W2 =28
24 O H© 2 () 2 ®
Zakat is deducted at the rate of percent. _4‘-&% e Ui AEASTSR
55 (D) 45 (C) 35 (B) 25 (A)
In4°, 4 iscalled et 4t 4 -10
radical .x (D) an integer ué‘ (€) exponent (i (B) base JUI (A)
G.M. between -3 and -12 is | e LUl 12 -3 11
+3 (D) +36 (C) 19 (B) +6 (A)
The amount which is paid by the bank on deposits is called -u < ‘;L“/l)l (Zﬁ g f: Joe -12
mark up ..‘,!JL (D) premium (‘3‘:{_ (C) bonus u‘j:j (B) profit d/ A)
Cost price is = sied S e 48]
loss -S.P. @l - =3 jed (B) L0z BF 100 x =3/ ‘“" (A)
100 + Profit % 100 + .43y
Discount x 100 100 x &% . S
M P m (D) M.P. + Discount c;«{@u{..*{ + L (C)
(AnB)° =7 -+ (AN B)° -14
AU B (D) A°uU B® (€ AN B (B) A~ B® W
If y=3x, then for x = 2 wehave y =7 y=? 3J5 x=2 4 y=3x J_15
0 (D) 6 (C) -3 (B) 2 (A

13-{1IV)-122-45000
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2- Write short answers to any SIX questions: 2x 6= 12) -é /;VU?/HLV‘“)’(S) i(—é/ =
i- Define ratio and proportion. : -é...«//’ g 207 e B
ii- A hockey team won 62 % of their matches and 26 % L fuFL YL £S i

of them were ended in a draw. What is the percentage S NEAEL Fi f." di ¢t 4l akd 26

‘of the matches they lost?
ii- Expresé % : % inits simplest form. g PuTS Z : l i

e B3 L./LJLL:J150000 v

&0 350000 Gh J2S e b clusgi
-s’:(}” / z

L1950 = 4led ﬁépb'_m/J Vi

iv- Calculate the Zakat on go!d amounti
v- Calculate the Ushro

Rs. 350000 produced b
vi- Find S:P. when C: ‘R

2 ~ e 1oﬂ,—?6‘
vii- Find the marked price when S P Rs 2400 and &y 2400 .»:/J ,5’ a’fp"’ od i T Vil

dtscount"4% . g 5 . = ,‘»4_ __,,i,,l

4 f(.z-xs'=1z>
 time= 4years

jii- If the price ¢ of anair condlhoner is Rs. 40 000 then
wrok out the amount of ales taxonit at the rate of 16 %.

iv- Simplify J4— X «/12

(27x K » | 27x _%
v- Simplify. ( =3 J and express with positive indices. LSt s /",f [ J -V
8a
vi- Convert 4.5 x 10° ¢m into meters and write the 2B AR 2;’:‘}:,4,‘«"/.? KA (" 4.5x 10° _vi _
solution in decimal form. : ' N 23
vii- Find AM. between x -1, x+7 S s BTl Lx-1, x4 7 i
viii- Find G.M. between -2 and -8 EeP s Puen Ll -8 A -2 i
ix- Find 7th term of a G.P. 2, 8, 32, G LT 2, 8 32, g2 ix
4- Write short answers to any SIX questions: (2x6=12) -éf g’uwf"’zum,r(s) i:—(;:( -4
i- Define set and give one examplé. : el s e i
ii- If C = {1, 2} then write the number of binary relations in CxC. 2% S JEt CxC x C={(1, 231 _ii
iii- Define bijective function. ‘ AP i
iv- Represent F(-3,7) on the graph. ~2h S R, 7) v
v- Draw the graph of an equation y=5 -’é_;f:_:’lf ¥ y=5 «bls v
vi- Define ordinate (y - coordinate) ' S OF -y e T i
vii- For the dataset 6,2, 4, 3,4, 5, 4,5 find the median. -2,";()‘”:;(&/:( 6,2,4,3,4,5 4,5 2xliy _vii
viii- Find geometric mean of 2,4 and 8. , -ép"’ bl 326 842 _viii
ix- Define range and write its formula. -5,/; Us § i sl é.,y/"' Ser Lix

( 2.’&/})



Note: Attemp any THREE (3) questions from Section .
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(a)

(b)

@

(b)

(a)

(A alozpm A8 L)vy) Sectionll fp 2o

The price of 80 shirts is Rs.22000. What would be
the price of 36 such shirts?

Calculate the amount of Ushr on a rice crop of
weight 3000 Kg produced by artificial sources,

if the price of 40 Kg rice is Rs.2000.

Distribute Rs.720 as profit amongst three people,
so that their shares are in the ratio 3:4:5

Mr. Javed invests in savihg scheme Rs.800 at 6 %

- per annum and Rs.1200 at 7 % per annum. What is

his total amount of profit 6n these two investments?
A man wants to pur’cﬁééé?é‘{ﬁa‘f o,fr 1000 CC He
has to pay 150 % exmse duty ’o‘n‘ pnce of the car.
If price of the car is Rs5, 'oo'ooo‘ How mhch

amount he has to pay to purchase the car?

Solve with the help of Ioganthm
69 13 x L x 0. 014

‘ Insert three G Ms between';486 and 6

Flnd Acuf;c it
U= {7891011 12,13, 14}
A=(7,10, 13, 14}
B={7, 811,12}

DraW'the g_raph of y =x+7
Find the standard deviation for a set of ungrouped

values, when n=15,VZX =48 ,x=10

13-122-45000

-é{f@l}b’ @) L (9o oY

QUr-92-22

U 30 1 7t &s 22000 =d St 80 (L) 5
‘Jn =d l/d/

J"L;J:b r;j’f 3000 Ljfd/l,x, &k Jdb) == (._,)
12000 =SS U /K 20 £ L0 b Sy

Lo hg ¢ Ko 720 S UPI L () -6
v 3:14:5 ed Sfur
U2 as 6 &3 800 U2 (F b i e ()

e b0 U UL 48 T &ss 1200 ! :...,Lz!:

L Co Sy b ud ¥ m

Gt —etal ta? K SIS 1000 LI T o (U 7
SIS HI Gt g3 AL 148 150 yed
tfor 611 ) ' F et 9t 20 5,00,000

S e § 0 ()
69.13 x 0.34 x 0.014
| -Jm d/u: uwé 6 o 486 () -8
U= {78910 1, 12 13, 14}
- A={7,10,13,14)
- B={7,8,11,12}
bt y=x+7 () -9
cX=10. D x =48 £ 2@l d (L)

S it Gl Kol 50 I =15



